PS2 _6660_ 6970

- H5101S, uSIols NSI820

Lgegg
A;e,\sf LHL@BLH a, '530»3"1,‘} at,}’-“_”,,gu al

Total area 13665, 949 aus = 0135 S mi /VA ”me" 21.33 .S'Zmi)\/
fetn fabons - 0.3651 0.11%0 0.5248

Pm?. O\wa., f’if)%, : )q,sg(o_gl,ga)+ .10 (o.u'bo)ﬂ%o(o S’HB)
WL Hb
Torp. Char, 10, - Q.m(o.zn,zz)f 214 [o 100\ 7 2.8 (D s )
= 098\ |/
Qo 1 W\ QoA = 195 /
Qo \D \b Qo = 4% /
Now O\MN&, > -\ /
Base Sen Cunp = 0.0os\g%(o.’gl;sz)+ b,ooZlD%(o.\|’lo)+o.oogzgs(057)45)
= 0.00%2MLL
(L Seen Cuag” otooS’L‘)lo(os(;s?/)-» 0.00%0) (o.nw)»r 0.003373(0.52‘13)
- 0,0023\| [/ |
Bung ) Oy~ 4028 /
Buse San Pf’t? O‘OD‘jl'vi(g (OBU&Z)*r 0.004739 (D‘n’w) t 0,00MBoM (05'2}49)

= 0).00u4| J
(C S ?WV “0.00584 (o.%Z) +0.0VS240 (o.ufw) + 0.005171 [o‘w«rg)

> 0005570
/

Pap 4, OMN&Q/ 3.1,

-
—



{Po _ (,13] _ 0000

],%Ge - Nswo\ NSWL T
heeat = G775 ,08F ac, \4490.17% ac

T ara = WMN193.%21F acres * 36,07 zm;

Acea fadbons = 0,2948 | 0,605

frog. Chagp 0354 (0.5%@)+ A éo,c,o‘il; Ay e

fof Chamsf = 10 (o398 2.3 (04057 = 2. Le0

Run |\ Qovr = Wb ¥

Lan \L Qoo = \b. /

Y\ ow U\wv%z 'I. =158

Dage Sen buap = () .003705(0*3775)+0.003736(0(6051) = 0.00372, /
(CSun Bnp= 0.00375b(0-341g) + 0003810 0,005 ) = 0.203851 /
E\M\r) "/a =+.07 '/’ S
Rt San P”’F - 0003:7‘1&03%9)*0:00608! (D.!ao’vl) = 0.005075 \/
(L S Paag = 0-005510(0:3146) 0,005515 (04051 ) 70005512 Y/

(\)ﬂ/\{) C\“\NU@ U}J - *lOa\%




